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" DIRECT TAXES
 Full Marks — 80

Time - Three hours
The figures in the margin indicate full marks
for the questions. '
Answer all questions.

Answer either in English or in Assamese.

1. Answer the following as directed :  1x10=10
(@) As per section 2(7) a person by whom any tax

or any other sum of money is payable under
- the Income Tax Act is known as .

(Fill in the blank)
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(b)

- (State whether the statement is true or false.)

(c)

(d)

Income tax is an annual tax on income.

~ which Fringe Benefit Tax is payable by the

- employees.

ST 2+ SR SIS WA 91 2@ I 9 |
(ST wa 7 wrwm Sema <1 () :

Perquisites cannot- be given in monetary
form. :

(State whether the statement is true or false.) -

Perquisites 59 wiepea frat w1t @
(Cf&Ed wm @ wiom S 1))

Fringe benefits provided to the employees on

employer, is tax free in the hands of

(State whether the statement is true or false.) |
T M g JR{a o esme Reatorsiz)
ferer IR 7 emie w5, ot CFIS TGN
YO0 G AR TS =7 | :
(Cfem va @ wom S <= )

~ (e) Nationality of an assessee has no relation

with the concept of residential status.
(State whether the statement is true or false.)
AT SRZ 4R e GG Y RPN
AIRTIT I TiF AZ|

(SfETH v G wwm e )

(f) An Indian citizen is always conSidered as
resident and ordinarily resident in India.

(State whether the statement is true or false.)

o SRS Al o Sies A i
e A fRoreet ARsifde =)

(OSB! 97 & wiwg Seg 01

(8) Residential status is determined with reference
 to the individual’s physical presence in India.

(State true or false.)

SIS &S o RISTIEE @ﬁféf\%# Ao w3
COST AT Sg el <1 =7 |

(S v & wom Srma w1 )
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(h) Receipts from crossword puzzles and horse
race are not taxable as income.

(State true or false.)

Crossword puzzles Wi CI@l ¢ @S

TR AR (R alfd TR w1
< (OfED wEm @ Sam Smd 4l 0)

(i) Indexation of the cost of

be done in case of long term capital asset.

(Fill in the blank.)

Fefa a1 wRep
(AT 21 == =)

(j) ‘Best judgement assessment’ is also known .

as ‘ex-parte assessment’.

(State whether the statement is true or false.)

Tor R w9 RE o o

CHAfSRTN a5 Rdigd e o Ty
(Bf&m o & womw B 9 1)
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is required to

2. Write short answer to the following in about 50

words each: | : : 2x5=10
ofts 5051 e foots FCAIE oW 5y De
A ¢ ' :

(a) State the meaning of income as per the

Income Tax Act.

oEea S SR oiEE 91 ey

(b) State the meaning and nature o_f~direct' tax.
oorF o 9 WE ({9 S 54|

(c) State the 'meaning of assessment of tax.
o9 [l =i S 1)

(d) State the meaning of agricultural income.

plere CECREESC R Y

(e) Define assets under the Wealth Tax Act.

Toifs o9 SzE SRS Srifes At )
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B Answer the following in around 200 words
each : : Sx4=

OB 2006 *1w fooge ﬁm‘“ PRI

= e

(a) Explain the meaning of and tax’implic‘ation
of the head ‘Income from other sourceé’

W@QWWW?WQfWWW
QGALFS! QA Y |

ﬁi State the procedure of filing tax return by
i ir various categories of assessees.’

ﬁ%ﬁcﬁ%aﬁmwwaﬁmﬂ
wiee =" o@fe Bl |
' Or / =23t

State the provisions relating to advance
payment of tax.

wﬁawwmw@ﬁ%@mx

- Or /===t (d) Discuss the use of PAN and TAN. How can

these be procured as per the Income Tax

Act? :

PAN =i TAN S 2 SCEAGAT 1 | SI-EY

iz SR @EEE (T R T AR 2
Or/ =23l '

State the consequence of non-payment of
advance tax. i

Elaborate the meaning of gross total income.

AR 5 o WL Az e

(b) Explain the meaning of capitél asset. How
~ do capital gains arise ?

THAR AT el Tt =11 T o
(AT Beoly 37 2

Or / =12=)

Wﬁﬂﬂ%ﬂ@ﬁﬁﬂ&ﬁ@tﬁﬂﬂl

(e) Explain the manner of computation of and
~ tax implication of ‘Profits and gains from

business and profession’.

e A1 R P I S i ST
S oE W I AGALTS! A P

What are the deductions allowed while
computing income from house property ?

P2 TR o et s Fefr icars R &
am Al =R e =

8/4(Sem-3) DITX 6
: ) 8/4(Sem-3) DITX A [Turn over



4. Answer the following :

8/4(Sem-3) DITX ®)

Or / w123y

Discuss the manner of -determining
residential status under resident but- {;
- ordinarily resident. "

A R RS A T @2

fcvie Rewrnes Ses far e

(;1) (i) Mr. Subha had purchased a residential
house property on 15-5-1987 for
Rs. 1,30,000. He had 'spent Rs. 70,000

on improvement of the house during the
year 1988-89. 1

On 4-8-2010 he sold the house for
Rs. 13,95,000. His expenses on transfer
amounted to Rs. 12,000.

Compute the amount of capital gains for
the assessment year 2011-12.

Given, cost of inflation index (CII)
1987-88=150; 1988-89=161;: 2010~
11=711. ‘ ‘ ]

(ii)

. weg 15-5-1987 wifszs 1,30,000 TS
<51 AT A A v sRieer)  1988-89
I|Ee (98 oI 70,000 T €L
TR TR A6 IRRE

4-8-2010 w©ifRxs (o€ w939 13,95,000
T Rfr SfRfee | q@ 2T A@ (9
12,000 5=l =5 R

2011-12 =9 [t I[ER - AR
T o Refy w90

TR s =9 (CID) wote faml =51 ¢
1987-88 = 150 ; 1988-89:161;, 2010-
11=711. g

Ankan of Hyderabad is the owner of a
house property in Guwahati. The house
is let out at a rent of Rs. 10,000 pm. Its
municipal valuation is Rs. 1,20,000 p.a.
and standard rent is Rs. 1,15,000 p.a.

The _fair rent of the house is
Rs. 1,35,000. ‘

‘The house was self occupied for two
months.; and remained vacant for one
month. Municipal tax paid Rs. 8,500.

“Compute the net annual value for the

8/4(Sem-3) DITX ©)

assessment year 2011-12. 5+5=10

[Turn over



REEREER SR S R
<O W& | e 10,000 5 w5 of
Rolst =01 oR ot =11 T a1
TR TR =0 1,20,000 539 =i 331
RS SR AT =W 1,15,000 61|
TN Rem () o/t 2= 1,35,000 50

T P R SRS e et o
SIF Q@ W PR WO A o |
8,500 S=1X (T =9 foranl =1 ]

2011-12 3= e RESB e Uf
AR o Fefr 1) 3

Or / 512l

(c)

State the compdne_nts of profits in lieu
of ‘salary; and tax liability thereon. 10

(Profits in lieu of salary) wawaiq el
MoT SR o ?azrra T WERE]
Trerd 41|

(b) Explain the procedure of assessment of tax ‘
under the Income Tax Act 1961 10

1961?-@@1@@13?{@@%@%&@1@3
&S 2t
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'~ Discuss the provisions of the Income Tax Act
with regard to tax deduction at source and
~ duty of the authorities deducting tax at
source. ' '

GEeY Wiz PR TeMre W Fed NN
T A S ST 9 ATSO
TETPIT TP FEY SCEBA T 8

- 10

Discuss with reason whether the following
are agricultural incomes as per the Income

Tax Act:’ , 10
o W @ PE AZDE e [ ¢

(i) Rent from the house property situated in

a village.

sfew SRfFS 7 TG [ S[|

(i) Rent in kind received in respect of land
given for cultivation under ‘bhage kheti’.
Sieal CF{® e FIHE MUl CFS Gl
A ANSIE A o=

(1)
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(iii) Life annuity received as a considerat

for transfer of land used for agncu ':
purposes.

i’ﬁwﬁﬁfﬁﬁwwfismwaﬁ
R R : 1

(iv) Land leased for grazing of ani ;‘;

required for agricultural purpose.

ﬁmmm%wr%ﬁw ‘
fﬁwmwﬁl bi: "

v) Income derived from land used as o:f
quarries.
M FoR ?{ETC"f TIZE R S|l
S |

(vi) Income derived from ~geat» rearing

R s w/t ene

(vn)Compensatlon recelved for acqulsmon of

agricultural land for defence and milita
purposes.

AT Wi REGR e g
UfEyRe IR wfim aE e oo | _,
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Or /=21

State the evolution and history of income .
tax in India. 10

CRTIEs AT N 2L T ¢S
T 4|

(d) Mr. Ayan is employed in a public limited
company in Hyderabad. During the previous
yeat 2010-11, he received the following
payments from his employer : £

. o YIRS G5! ISR ARSI |
2010-11 previous TS (L€ AT FITH =
e 5l iR ¢

Basie. salafy Rs. 13,000 pm

o1 e RE 13,000 51

Deamesé allowance Rs. 8,500 pm -
R A6 wWiEE 8,500 B
Entertainment allowance Rs. 1,000 pm
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Servant allowance Rs. 600 pm
ST NG W 600 B

Bonus for the year Rs. 73,000
T AT G 73,000 Ts‘asr
Commission recéived Rs. 34,000.

A FREF 34,000 T

Free furnished accommodation for which fl
employer paid a rent of Rs. 5,000 pm.

Employer’s contribution to recognised provider
fund @ 13% pa on basic salary. Uniforn
allowance Rs. 200 pm (actual expenditut
Rs. 100 pm on an average).

During the previous year, the employer deducte
Rs. 2,000 as professional tax from his salary.

Compute his income from salary for the relevan
assessment year.

ORI wwwﬁmm@mnﬁ%sm
Bl Aoy SR

APS #ifeTes e ReaoRefics 1 e o
aefd 13% ame fafes
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Or/wEEl
/hat is nét wealth ? How is it computed ?

15)

10

wnvff%ﬁs ? @l casm?af ﬁ‘?ffr T = 2 WWW"
j ’%3h1| =
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